3, 1%8Q; A(A-e) =28 A -A-1E

AN (ARl = ot 4o = A(AhE) -2A-A-2¢
S IN$o AT =AAHE) -3(At2E) #he-2¢
A BF e =(A-3€) (Ahz) t4z=0
- At ~' 3e -~
N= Af ; (M2T)=g

v ATE & B Afe- /ci(ee—AJ.

| ~ 2
i1 Aney'= 4 (A-8) L
BBEAOEN —-GEA),

' (
X (A 2B = —(ATE)

4y W ERe s AR f/ /
IR VT K R IPPO ¢~ [ (R I
&\%( a‘(«"?/% ﬂ(l_’“)J@
— I e 4 2 -\ .
E"ﬂ x’ (4‘, 51\) (L | 0) %{f‘%‘
LY

. _ -l k6 . \ Zz S
i IR AR L0AE) SR K Yeke Ag.

20, W& p pAT=BATFIE

Vi AEzclieq (1,103 @
fo (A-E)BA' =3E J v

e (AD) Be3A B= A€y )
* = gd)ﬁ( I,I;I;'E)-CA‘?(Z,ZJ@',
A*= dleg (11119, = o/fgjfé,w»r).#

A A= 2 A K= IRRE _
A*' {:> INENaE
A":_.'TA(—I = -DEO(:@CLL ,«g)

A= 2> dieg (1, W)



-

25, WREBES tRieg.
6. & (Lo peealiE))
VR =R BF 4K

(€
() = (5 7)

(%)



